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Bid A = sin (180°—^), cosec A = coscc {^80"—A) ;

LBmA = L sin (180°—yl), L cosec A =L coscc (180°—^

;

003 -4 =— COS (180°—^), sec^ — - scc(180°—J)

;

tan A =— tan(180"—^), cot ^ =— cot (180°—^).

General formulas,

s'm{A-\-B) — sin ^ COS 2? -f cos ^ sin 2? (4)

sin (4 — B) = sin ^ cos i* — cos ^ sin i? (5)

cos(il-l--B) =co3^cosi?— sin .4 sin i? (G)

Bin A = 2 sin J ^ cos J .4 (7)

cos A =2 cos'-' J ^_1=:1_2 sin- i A (8)

sin A + sin D tan ^ (.4 -|- B) ^q»

sin A — sin i^ tau | (4— B)

In any triangle ALC,

A + B-\-C^l80° (1)

sin A sin B sin G /^v

a o c '

c= a cos B-\-b coa A (3)

a^— b^-^c'- — 2bccQ3A ^

i-;
I

c2— a2 I (10)
COS A =—I t

2 6c )

-M=V-^—
I ^„,

«nj.l= J'i--JI<lZ-Ji) (,2)^ s{s — a)

tan|(4 —B)= ^^^ cot * C.

Area of triangle= \ (base X height)

= ^ b c Bin A
= ]/ { « (s —• «) {s — b)s— c) I.


